FTLAIRBEHEFAY

PEE RS

355

e
HiFH R

098CSIE-S001
9T E 15 98 & 1 5

th e g g

AR 58

~ YRR

AER D P EFERE S lcFES o
A A R FEARERE IR G A
LI T ;;j;ra B FRERIL
PSR B AT PR IR "h’j"?ﬁ‘ﬁ‘
b - w??ﬂpagﬁ-é%%ﬁﬁ» LA

VAN IIPAR S S S T mgﬁ;ﬁyﬁr =
%o LATLEAw P it
Gold wave 4%+ 475\ 4% & ; —E I
B R-FRIGE S ﬁa«] ~ 7| Matalb & » £ 73 F
g B edT 0 % Z IR AE R SRR
Teh— B EE 5N Bldet poAp R Rk
RMIE T~ EUEF B EUEE 0 F o 0
P EVRGER B 0 I T s T
o kR Bl BB R F TRk
B0 R FERE AR o

M - piph Tl RPIER
C R EPEE S RS

)

R L N ]

B

~dd BPh

FEnp AT R U FIRF A
L R R R R A L
PrF A EARE o F S FERES B K
2 © AR S BB [ AE
i%i’ﬂ*&aaﬁﬂéaﬁﬁu&

ET R mﬁg.] oy T LA H

ﬁ: F_L *‘ =

e

o N iE*
EERUR N
ord ¥miE~> ZF40 o d 345 H I8 5 B EL
FERAT B A T % o

bl

b
3

AR

>

P PR T 2 AR T

= &

PR

NPTy (AP fE 0 AP A& RIES T
E‘;’&(Speech recognition) ° &% BE.1E £
TE B EFR IR AP RS
;_ﬁgm,ﬁ‘—g?%\jliiﬁdﬂm‘z%%wa Im\:m'l
B HIT o ol FTiEE 0 B E TR T
o - HF R

;fum ’

ZNPIHLRE P F
- " RERBEI L
Goldwave #ic %8 ~ MATLAB ~ & 5. b

R
(D B g2

78 L

ic BB RIEEES IR
(Bl- )&= ¥ g2 i

¥ 3% 5 1£_Goldwave %‘J »~ 3] MATLAB
(& ;xz_ﬁgj L B Y BeRE
%%Moélﬁéfﬁﬂmﬁwﬁw’i
#-3F 5 WAL o dF o T “Epr




B7Oaad®  E  Beg t2 B) 5 240 BRE
FoRIEPE O VREY LIS i
SR K RHES FRDE o 58
’]‘;‘;“Lg' it A '&F'\:’F'_F.l l;, BEITH L B e+ g
Sl LB R RO
W LAl BRI E o AES G b
Acgher gk o (Bl-)

(Z)WQ’?ﬁk‘/ﬁ—n =

417 LPC etk £y Tig
W S, ME TEHE
W Sy 0 o0 LIk

’?\7\ fe ,:I &ﬁﬁ‘_‘-m] b4 J%—e,\‘pg):
“rg v ] 2 d Tk
#

(Bl= )& FEiw b 2 e

FIEZREFT 3 d_m#f’@?’é ¥
A RFHi=hiEp dp b Rl o ARPHCE
SR pe 120 WA B anE F M)
IpE i BRI aRE g TR #B%T\w
T‘HE/J‘ v kT EER Rt 2 B AR R 1

PR E R LB o P Y ;“é‘E
%Liéﬂﬁ p B u"fﬁv‘ g fl* - fAfdF e
"Lt F & 2 (Durbin algorithm) » 7
I- AP G G BRMIEEHG R
RN TR R B R 2
E ooz {8 FEDIHHA AT Bl endd
Hei® o BApF A & enp ehoy At
BV A ik i 2 3R T o i
fEEFRREEE FF A g
B sean engl B0 > F) 0t -5 F 3 R BT A
At f EIIEA B S R
A AT L R AR L P ey

o (Bl=)

T F Y AIRATE T2 ke o 2

* } L @‘_;-ky g;,J E i»,ll ,ﬁ#g‘ ]1\«3:_. *3—

+ = =
R

ER U B ERIE S b
7 A m#rf‘fw ST NL B $RE Y

BLE T (T T A RBFHREE G- b

el U

SEAR RS R R R T A1 2 5)

A EAMER M A=>4.1990921 EHEMRE 815 ==1
AAERR TSR BRI F B==(0 3 6 7 8 EI}|
A EAMER M B=>8 . 548793 EHEMRIE 815 =20
AR EATE R BRI B4 F1FH

SRS
GREAENELNERERET L o

(? - R 55 e

LRl
Ed FIT RRFFEROES R T
J‘lﬁﬁépqﬁi—}y? iRy 4o BBV R
iz%r’v’ﬂ*;:% AR ERT KT S 2
5 b gy l;%ilﬁ E e BT >
ARG T LA S REAR
Ed AFRERE S AEYIES LG
W BRBIE R B AL e F 0
B R ERS o BER FHEG!

21z m
_7\}[’%?’ El ;_:‘i"!o

WO

P

L
S P

I~%% '¢'§Je

[1]%5 s h 2
http://andrew.csie.ncyu.edu.tw/DOC3/

[2] ~ %3 5 B F
http://www.uijin.idv.tw/new/phonology.hand
out/

Blz g 2Ei F3 Fes i
http://74.6.146.127/search

[_H%ﬁ% , Visual Basic ¥23% 5 34—k
m%&'ﬁ ", 2 b, 2002
[5]# oL TE S ):L%{ﬁ 2r o >E, 393






